Review

Lecon 2.2.1 Title: |The engines (make, modéles et spécifications).

Competency element: Learn about the engine’s capabilities.

Multiple choice question.

Sheet to be completed - 1
Lecon: 2.2.1

QUESTION:

On this Cummins engine data sheet, identify the power advertised "Advert." in
HP.

ANSWER CHOICE: Only one possible answer X
Several possible answers

A) 1150 HP

B) 1950 HP

C) 505 HP

D) 2000 HP

Refer to if wrong answer:

Student Notebook 2.2.1.
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Multiple choice question.

Sheet to be completed - 2
Lecon: 2.2.1

QUESTION:

On this Cummins engine data sheet, identify the torque in Ib/ft "FT-LB".
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ANSWER CHOICE: Only one possible answer X
Several possible answers

A) 1850

B) 1950

C) 2000

D) 505

Refer to if wrong answer:

Student Notebook 2.2.1.
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Multiple choice question.

Sheet to be completed - 3
Lecon: 2.2.1

QUESTION:

Identify the sources of information that make it possible to find
manufacturers’ specifications.

ANSWER CHOICE: Only one possible answer X
Several possible answers

A) The mechanic

B) Manufacturers' websites

C) Operator's manual

D) All of the above

Refer to if wrong answer:

Student Notebook 2.2.1
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Multiple choice question.

Sheet to be completed - 4
Lecon: 2.2.1

QUESTION:

Combine this brand of engine, with truck manufacturers who offer it as an
option.

ANSWER CHOICE: Only one answer possible
Several possible answers X

A) Freightliner X
B) Mack X
C) Volvo X
D) International X

Refer to if wrong answer:

Lesson 2.2.1 from the student's workbook.
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Multiple choice question.

Sheet to be completed - 5
Lecon: 2.2.1

QUESTION:

Which of the following is not a diesel engine?

CHOIX DE REPONSE: Une seule réponse possible X
Plusieurs réponses possibles

A) Paccar, MX-13

B) Mack, MP8

C) Spicer, N14

D) International, A-26

Refer to if wrong answer:

Lesson 2.2.1 from the student's workbook.
Spicer, N14 is not an engine manufacturer.
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Multiple choice question.

Sheet to be completed - 6
Lecon: 2.2.1

QUESTION:

engine speed (RPM) is it achieved?

According to this engine plate, what is the engine’s maximum HP and at what
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ANSWER CHOICE: Only one possible answer X
Several possible answers
A) 308 HP a 1350 tr/min
B) 550 HP a 700 tr/min
C) 500 HP a 1700 tr/min X
D) 500 HP a 1400 tr/min

Refer to if wrong answer:

Lesson 2.2.1 from the student's workbook.
500 HP at 1700 rpm
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Question - True or False

Sheet to be completed - 7
Lecon: 2.2.2

QUESTION:

The DD16 Detroit Diesel engine is a very popular engine, mainly
due to it's high fuel economy?

ANSWER CHOICES:

TRUE

FALSE

Refer if wrong answer:

Lesson 2.2.1 from the student's workbook.

The DD16 is mainly for its power and it is less economical

(A-A 2.2.1) Cth
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